1" LONG BOLT ASSEMBLY (2 PER PAD)

(1) 3/8-16 BOLT 1" LONG
(2) 3/8" STANDARD WASHER

(1) 3/8-16 LOCKING NUT

RAISER PAD
ASSEMBLY

FIXED FLOORING
“FOR WOOD FLOORS™
SUBSITUTE WASHERS
WITH STEEL PLATES

2" LONG BOLT ASSEMBLY (8 PER PAD)

(1) 3/8-16 BOLT 2" LONG
(2) 3/8" STANDARD WASHER

(1) 3/8-16 LOCKING NUT
*LAG SCREWS NOT RECOMMENDED**

RAISER PADS - MOUNTING INSTRUCTIONS

2 PADS PER - 5" Ironman, 5" Panther, 6" [ronman, 6" Panther, and Junior Machines
3 PADS PER - 7" Ironman, Fascia, and 6" Half Round Machines




